Example 4

_J\N\I ) {>F |
Ry Ry V=12V
Vs+l R, 3 *3, R, =40
_— — V
— B RZ:SQ
| R, = 6O
= Vg=9V

Find the current through the diode and the voltage on either
side of the diode.



Example 4 (Conducts?)
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Diode does not conduct



Example 5
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Find the current through the diode and the voltage on either
side of the diode.



Example 5 (Conducts?)
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Diode conducts



Example 5 (Thévenin Solution)
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Example 5 (Node Analysis Solution)
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Example 5 (Multisim)
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Example 6

—'\NV—[>|_'\N\/_
VS +E R]_ R2 E+ VB \R/S i éZQV
_= = =
R,=80
= Vo =10V

Find the current through the diode and the voltage on either
side of the diode.



Example 6 (Conducts?)
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Diode conducts



Example 6
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=100 mA

V, =V, -1;R, =12-05=115
V, =V +i,R, =10+0.8=10.8;
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